(0 @) (rad)

o :
107 1

2 3
TPlpoT (PCA t%obeamlinélf)

a(d cot(d))

Ratio

=
<

5 ‘T [
b L Y —
E F [ 1
05:_ """"""""" e E':;";; """ E """"""
oF el + T
107 1

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewTEST1000time__RECO

SICEWATL

o p/p.)

1L

€ [l
e :
gN Y A
=2 :
© :
107} e
SO
T S0 et
107
RS
= 15
4
1:_ """""""" "‘» 1T
5. S— ERiriane.
”) 2 3
10 ! (PCA tjbobeamliné'f)

TPl[:?T



	Contents
	Page 1


